
RF Absorptive Switch SPDT MSWA2-50+

Typical Performance Curves

Note:

RF1 RF2

0 -5/-8 OFF ON

-5/-8 0 ON OFF

ON - Low insertion loss state

OFF - Absorptive state
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Insertion Loss vs. Frequency & VDD
RF IN-RF1 & RF IN-RF2 

RF IN-RF1 @ VDD = -5V

RF IN-RF2 @ VDD = -5V

RF IN-RF1 @ VDD = -8V

RF IN-RF2 @ VDD = -8V
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Isolation vs. Frequency & VDD
RF IN-RF1 & RF IN-RF2  

RF IN-RF1 @ VDD = -5V

RF IN-RF2 @ VDD = -5V

RF IN-RF1 @ VDD = -8V

RF IN-RF2 @ VDD = -8V
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Isolation vs. Frequency & VDD                    
RF1-RF2 

RF1-RF2, RF1 (ON) @ VDD = -5V

RF1-RF2, RF1 (OFF) @ VDD = -5V

RF1-RF2, RF1 (ON) @ VDD = -8V

RF1-RF2, RF1 (OFF) @ VDD = -8V
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RF Frequency (MHz)

VSWR vs. Frequency & VDD
RF IN 

RF IN, RF1 (ON) @ VDD = - 5V

RF IN, RF2 (ON) @ VDD = - 5V

RF IN, RF1 (ON) @ VDD = - 8V

RF IN, RF2 (ON) @ VDD = - 8V
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Input IP3 vs Frequency & VDD

RF IN-RF1 @ VDD = -5V

RF IN-RF2 @ VDD = -5V

RF IN-RF1 @ VDD = -8V

RF IN-RF2 @ VDD = -8V
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Pin @ 0.1dB Compression vs Frequency & VDD

RF IN-RF1 @ VDD = -5V

RF IN-RF2 @ VDD = -5V

RF IN-RF1 @ VDD = -8V

RF IN-RF2 @ VDD = -8V
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RF Frequency (MHz)

VSWR vs. Frequency & VDD     
RF1 (OFF) & RF2 (OFF)

RF1 @ VDD = - 5V

RF2 @ VDD = - 5V

RF1 @ VDD = - 8V

RF2 @ VDD = - 8V
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RF Frequency (MHz)

VSWR vs. Frequency & VDD     
RF1 (ON) & RF2 (ON)

RF1 @ VDD = - 5V

RF2 @ VDD = - 5V

RF1 @ VDD = - 8V

RF2 @ VDD = - 8V
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